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| 5th Month, 4th Week, 4th Day | Review Exercise 4 Q # (18 to 21) |
% Answer the following questions: - A,«I:ZLQUVJ“ 3
Q.1. Translate AABC with vertices A(-2, 0), B(-5, 2) and C(-3, —6), 7 units
right and 2 units upward. (1x5=5)
_u:/J“ E{)ingJﬁiu: /b_u,gw:" (i C(—3, —6)2IB(-5, 2)<A(-2, 0)) LL ABC &l
Q.2. Find a translation when a point A (1, -2) is moved to the point A'(-3, 5).
(1x2=2)
U T ST N3, 5) B oA, -0 L

Q.3. Shade one square so that the diagram has the given line of symmetry /.
(1x3=3)
el IS E U Sy SIS
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